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M Com (Semester - 1) Exammatlon, April. 2016
: ADVANCED FINANCIAL MANAGEMENT (OA—18)"

€OC 101 :

Duratlon 3 Hours

M

: Instructlons 1) Th/s paper consists of nme quest/ons

o 2) Question No. 1 cons:sts of 5 campulsory questions. of

: 2marks each. ey
3) Answer any5quest:ons from questlon2 3 4, 5 6, 7, 8and 9.

4) Flgures to- the rlght mdlcate marks.

1 Answer the followmg

ax. Marks ; 60

(5x2-10)

a) State and explain two pomts of dlﬁerence between Net Present Value and
-Internal Rate of Retu n.

' b) Whatis the meaning of Homemade D|V|dend o
.¢) Explainthe two concepts of working capital.

d) A newly establlshed company wishes to determlne an appropnate capltal :
structure. Itcan issue 12% debentures and 10% preference capital. The existing
 taxrateis 40% The company requires Rs. 50,00,000. The possible capitalis :

Plan | Debenture Capital Preference Capital | Equity Capital
1 = = e
2 30% ; 70%

3 30% 20% 50%

The face value of ashareis Fs. 100. If EBIT is 12%,'calculate EPS.

" ) KLM Lid. prowdes you the follownng lnformatton
- Funds required : Rs. 10 00,000
Financial plans. - ; ;

- Plan A : 100% Equity shares of Rs 10 each current market pnce is Rs. 25.
Plan B : 40% Equity shares of Rs. 10 each, current market price Rs. 20
60%, 10% Debentures of Rs. 100 each. Tax rate-40%. :
Calculate the indifference pornt between Flnanmal Plan A and B

. P.T.0.
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2 a) Whatis Financial Management ’? Explaln why Proflt Maxnmlsatlon fails to be |
consistent with Wealth Maximisation. - ! _ ; 5
b Explam the relevance of Economics to Fmanmal Management E 8
3. What factors should be considered while estrmatmg the Workmg Capltal
v reqwrements ofan organlsatlon JEe e =10
. 4. a) Explam the Forms of Dividend. : e ' : 5
b) Elaborate the statistical technrques to handle nsk in capltal budgetlng 5
5. Explain the theories of capital structure et : - 10

6. Keith Company Limited is consrdenng investment in one of the two proposals-
Project Xand Project Y. Each involves a cash outlay of Rs. 40,000. The expected
cash inflows and certainty equivalents are as follows o

e Project X - ‘ Project Y
Year  Cashinflow  Certainty Cashinflow  Certainty
: - Equivalents 4 ~ Equivalents
b s RE25000 o 0B .. - e ot 09
2o RS 28,8005 - °0 L 075 Souinoc RSES0H00) neo 1 o 0Bk
figqe0 Sldieepi 954,000 0.9 RGN0 T & oG
RISK free cut off rate is 10%. Suggest which of the two proyects should be

preferred. _ oo 10

7. The cost sheet of Karim Ltd provudes the following data

ltem =~ ‘ - j Cost per umt(Rs)
: Rawmaterial SoalRRITEEERE . Ty
Direct labour o : R e | 28
_Ove'rhead‘s (inclyding depreciation of R-s.14)" . i 56
~ Totalcost i , 154
Profit." : s Al s i  iup3g

~ Selling price - o S 1_82
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Additional Information : :
i) Average raw material is in stock for one month.
ii) Average material in Work In Progress is for half month..
iii) Credit allowed by suppliers one month.
iv) Credit allowed to debtors one'monfh
) Average time lag in payment of wages — 10 days.
| vi) Average time lag in payment of.overheads — 30 days :
vii) 25% of the sales are on cash basis.
- viii) Cash balance is expected to be Rs. 1 00, 000
ix) Frmshed goods lie in the warehouse for one month.

You are requrred to prepare a statement of working caprtal needed to finance a
level of activity of 75,600 units of output..

“Production is carried on evenly throughout the year and wages and overheads
accrue similarly. State your assumptions if any Number of worklng days isi:
assumed to be 360 days. = v : . 10

a8 Thefollowrng is the capital structure of Kapil Company.

Source of Capital | Book Value Market Value

Equity shares @ Rs. 100 each 20,00,000 . 40,00,000

9% Cumulative Preference :

00,00 ' (
Share Capital @ Rs. 100 each et : P
11% Debenture | 1500000 | 16,50,000
Retained earnings o 10,00,000 - =

The current market prlce of the company S equrty share is Rs 200. For the Iast :
year the company had paid equity dividend at 25% and its dividend is likely to

grow 5% every year. The corporate tax rate is 30% and shareholder s personal
" income tax rate is 20%.

You are required to calculate :
a) Weighted average cost of caprtal on the basis of book value werghts ,
b) Weighted average cost of capital on the basis of market value weights. 10
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9 The followmg mfmmahon is- avallab!e in respect of Kim lented
Capltahsatlon Rate . - ‘_ 10%
: Earnlngs pershare ., Hs BD

,Assumed Rate of Return on Investment
i) 12% ‘
Il) 8%
iii) 10% i _
Show the effect of Dividend Policy on the market prices of shares apply’ing'

Walter's Formula when DIVIdend Payout Ratlo is (a) 0% (b) 20% (c) 40%
(d) 80% (e) 100%. e . Lay 10



